2ste p inegyualities with flipgs

2 cte p inequa lities with flipg

2x+3 = 18

2ste p inegualities with flips

3x. 12 < B

2 cte p ineg wa lities wikh flips

X/2+5 > 12

Zstep inegea lites with flip

X/54+2 < 5

2 st p ineg ua lities with flips

20 < 8x+ 4

2ote poineg oa lities with flips

3> -3x+ 15

2 ohe pineg ua lities with flips

T6 <20  4x

2 ot i inex ua lit s with flips

14 > 28 + Tx

Zste p ineg pa lities with flips

- X +4>13

2 ste p ineq wa lities with flips

1>-2 +X/5

2 ste p inexq) wa lit ies with flips

-5+ ¥X/6> -8




